TR ot s 7€ @ o - o () ErRdY fRSaaieT (eFBCa RET Ale |
G FICRIIT ¢ Linear Algebra ¢ @ @S : 9090¢ |Define linear dependent vectors.]

ST : O T T : vo

(oB7 Trired &g T e ¥
o 529 : st fasmte 2w Sea yreeifzreng fice =< | () fefe kS
|What do you mean by basis of a vector space?|
3-[Kort
(F) Swew W RE e | [What is called nullity of linear Transformation?]

|Define identity matrix.]

() TS Wil = e |
) fae-afestay fdfiares it Sarzae wte | |Define characteristic matrix.|

[Give an example of a skew-symmetric determinant.]

3=t
(o) e R F @-IC b efra Ted wie- ° X &=5
[What is rank of a matrix?| 31 A9 T @, Thom WhEE 9t sREhRE a. ot e zattam
(WD u=03-7,2,-1+i)8y=(4+i,3=-2i,8) AT u.v =397 BT QTR <o 4T T |

[fu=(G-752,~1+i)8y=(4+i3-2i8) then findu. v.] [Prove that, every square matrix can be expressed as the sum of a

Hermitian matrix and a Skew Hermitian matrix_]

(8) €95 T TS Ay Fefemm @l e Ol u=(20 1+i-3+DIRY=(4,3+i - )T |u-y |

[Write down the formula to find the distance between two vectors in If[fu=(2i, 1+i,-3+i)andv=(4,3+i, i) thenfind [[u-v]|]

c") 4 3 37

81 A=| -1 0 -1 |7 S Wiy Ffr
(%) V-9 A (954 IIT 0T L -4 -4 3]
. Find the i trix of the matrix—
[What is called parallel vectors in V 2] ne e;““;'“ I;la_”‘ o oTats
A=| -1 0 -

(R) PRsTS ke AT (6 I#10S B T2 4 4 3

[What is meant by the inconsistent system of linear equations?]

(&) I T AT (T G AN A2

[When a system of linear equations has more than one solution?]
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13-20 20
26 -5 -2 4 -3

I i s fada w9
26 0 8 4 18
Find the rank of the matrix-
13-2020
5 26 -5 24 -3
8 0 5 10 0 15
26 0 8 418
o1 =] ! |t e coaain soara e
1 2
Verify the Caley-Hamilton theorem for the matrix A =|: 01 ]
9] M8 @, GBS ={(a, b,c,d) e V':2a-3b+5c-d=0} G V' gq
Tl |
[Show that, the set S ={a, b, c,d) € V':2a-3b+5c-d=0}isa
subspace of V*.]
b1 {1,2,3),(2,0,-1),(7,6 — 11)} GGT @ Sl swe@r afvsaeT
fa w1 am1R 791
[Test whether the set {1, 2, 3), (2, 0, - 1), (7, 6, — 11)} is linearly
dependent or independent. ]
® 1 V(F) (33T TS S = {uy, Uy, oo u,) 9o s =z orire @, V(F)
T TSI GAMIALS AL S GF SHATAFPTICZA TR SPT T
qq |
[IfS = {u, uy ........... u,} be a basis of V(F) then show that each of the
elements of V (F) can be expressed as a linear combination of the elements
of S uniquely.]
oot
- ¢fF efrz Tam wve— ¢xa=9¢
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=A@+ b+t +d +A)
a+A ab ac ad

ab b*+A bc bd

[Using Laplace method prove that, .y = A}
ac be c+i «cd

ad bd cd d*+nr

(@ +b+c?+d*+4)]

A 9T 9T T A o9 a9 T ARfERe aaerefie wited @ (i)

AT (72, (ii) TP T A, (i) TFF AL ANS :

xty—z=1

2x+3y+iz=3

X+Ay+3z=2

[Determine the values of A such that the following system of linear

equations has (i) no solution, (ii) more than one solution, (iii) a unique

solution ;]

x+y—z=1

2x + 3y + iz =13y,

Xx+tAy+3z=2

et ey 36T @ oo 34 |

[State and prove Minkowskiss inequality.]

(F) (3,9, -4, - 2) EFAGT> (1,-2,0,3), (2,3, - 1, 0) 9 (2, -1, 2, 1)
(STAGTR AT TR 2B 9 |

[Express the vector (3, 9, -4, — 2) is a linear combination of the vectors (1,
-2,0,3),(2,3,-1,00and (2, -1, 2, 1).]

(F) vyva, v; (SBTIR @ATREAT STSTNT 22T (A8 @, v, + vy — 2vs,
Vi—Va—V;, V) +Vy cﬁwmmﬁruﬁﬁﬁﬁ‘m

[If the vectors vy, v,, v; are linearly independent, then show that vectors v,
+ vz — 2v3, vy — vz — v3, V| + v; are also linearly independent. ]

Website — https://pimathclub.com/



381 {(1,-2,5-3),(2,3, 1,-4), (3, 8 -3, -5)} GG fEe R V' @5
O fefers iffre o1
[Extend set {(1,-2,5,-3),(2,3, 1,-4), (3, 8, =3, =5)}to a basis of V‘.]

se | I v° 97 4o Toear U 9k W RRIER {(1, 3, -3, -1, —4), (1,4, -1, -2,
-2),(2,9,0,-5,-2)} @9 {(1,6,2,-2,3),(2,8,-1,-6,-5),(1,3,-1,-5,
-6)} AT e T, O (U + W) @R (U n W) @& T e 394 |
[If U and W are two subspace of V° where U and W are generated by {(1,
3,-3,-1,-4),(1,4,-1,-2,-2),(2,9,0,-2)} and {(1, 6, 2, -2, 3), (2, 8,
-1, -6, =5), (1, 3, -1, -5, -6)} respectively, then find the dimension of (U
+W)and (UNW).]
S | €, T: VP o V2 @0 QIR #7109 : QIR T(x, v, z) = (x + 2y - z, y
+z,x+y-2z); Im T @R Ker T f7fr 71
[Let T: Vv* — V? be the linear transformation defined by T(x, y,z)=(x +
2y -z, y+z x+y—2z) Find Imand Ker T']
I 1 2
i1 A=| 0 2 2 |yfiwls 5 SReF T ¢ W W= (IR
-1 1 3
fada =)
Find all the eigen values and associated eigen vectors of the matrix
1 12
A=l 0 2 2
-1 13
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